EARAROBEEIERT — 2 N— IBISH —F

2012888160 (k) 9mE{A&3H

M 3m— 68 Y5% 3% ‘(ﬂi} W ‘Béiﬂélasﬁ] - | & (%) 13000 B
[AE4£] 1% :150,000  ~ 2% :3500MH  3%&:14,000”  437%:8,000H ~ 53 :5,000 M
B BB mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
= Bewh 124, -1-1- . — FEBF (£8)
algl 735 7E—1L i3 ue 1(2_4)9 1-1-1-1 | 39.2 1 (4_925) iy 75,‘5
R:TZ7vIR=0 B:TLANIH L — Kik7 7 — L
s o = W& 205, -0~ . — BAH—K (£H)
olgliol VER>Y3 i 3 7 1(215)1 2-2-2-2 | 38.9 2 (4;1“2) L i
LY=L TF— B:FU—1Nn—h BIB4S
o R [iim}2 : —4-4- - Z/EEAN (ER)
3 gl IN==%—7 3 ao (11215/5 AR ! g‘) At s -
Loy TRy b Brasavit—F EiEirse]
N g N BHEIFE : O — BHEXE (£H)
alzlg|FTUTL—T 43 &5 1(.12/52.)5 3-3-3-3 | 39.1 4 (5_342) EVA‘j—Ei
R:ANRSNGZ BT TI8— HO o gk
s = BEFA— :26. -5-5- . — ABFR (£E)
sBY 6| -V -2x5> R VAR | e I PP
R:772)17 B:hr—I—42%— 17 3455
S 73, — i 3 | TER 1:26.7 6-7-6-6 |39.3| — 3 464 | WHETEA (ER)
6811 T77>—F 54.0 21/2) o) | HE—2
R:KTA MY ZN B:U—"THv—7 Eliztve]
L LT 7. 7 - REE ()
7 712 1E1FNRZ s #53.0 (12217/2% MR B :35) B8N B
LiANTNYR FiagAEITLUR SAYELRT7— L
2 K 4 3 | EEHEK 1:27.5 7-6-8-8 | 40.0| — 9 453 | KEAE (£8)
8 o| 7H—= ¥ 54.0 (1 1/2) -7 WP EE
RiALNTyTIVE B AHS A0S
. < A :27. —11-11- . — BART (£8)
91111 v —HH % 3 54./6 (11217/28) 11-11-11-111 39.7 10 <3+635) igﬁ; =
gL IYHA LR BhAvs+—0F E
N RHEEC :98. ~10-9— . = Z/HEEN (EB)
olsls | T/—775— * 3 | BH i A P o |WEEE
L:T77RVIT B:YY/ETA #wEF 7
— - FHAFIR : -9-10- — KIEHK (£H)
1 3| =vavos4 i 3 Ak 1.(228>.4 10-9-10-10 | 40.7 6 gg) ggmy@ i
R:THIHFLIY BiUavESRUTR =i 1
@ 1 — S —EBlIEf
13=7r= 9,10,8,6,4,11,2,7,5,3,1
2= = 9,10,8,4,6,2,11,7,3,5,1
Jol=5r= 9,10,8,4,6,11,7,2,5,3,1
40—+ — 9,10,8,4,6,11,7,2,5,3,1
[ N3
BB 9 120 714K 9-10 140H % E 7-8 130M 3EHE 4-9-10 500M
8 B 9 1004 4-9 300 B & 9-10 180H K31 9-10-4 790M
10 110 4-10 330 B H 9-10 180
4 1804

ABICOVWTRDTEEERROODE. TR LIV,




